

ATOMIC SOLUTION OF ABSTRACT CAUCHY PROBLEM IN ℓ^2 SPACE

WASEEM GHAZI ALSHANTI^{1,*}, MA'MON ABU HAMMAD¹, AHMAD ALSHANTY²,
ROSHDI KHALIL³

¹Department of Mathematics, Al Zaytoonah University of Jordan, Jordan

²Cyber security Department, Al Zaytoonah University of Jordan, Jordan

³Department of Mathematics, The University of Jordan, Jordan

*Corresponding author: w.alshanti@zuj.edu.jo

Received Feb. 9, 2025

ABSTRACT. In this paper, based on the theory of tensor product of Banach spaces, we find the atomic solutions of the following homogeneous second order abstract Cauchy problem.

2020 Mathematics Subject Classification. 34G10; 46B10.

Key words and phrases. Second order abstract Cauchy problem; atomic solution; Injective norm.

1. INTRODUCTION

One of the most attractive abstract differential equations is the abstract Cauchy problem. Various applications of such problems come into play when modeling dynamical systems with spatial diffusions aspects [1]. However, for abstract Cauchy problems with ordinary and fractional orders, there is a wide range of scientific applications. The evolution of the dynamical system can be handled more effectively, in this particular case, utilizing proper infinite dimensional spaces such as Banach or Hilbert spaces with specific abstract properties which can be chosen according to the dynamical system under study. By employing different analytical approaches, many results have been reported in the literature in order to solve abstract Cauchy problems with ordinary and fractional orders [2,3].

In the current article, based on the theory of tensor product of Banach spaces, we are interested on finding the atomic solutions of the following homogeneous second order abstract Cauchy problem

$$u_{ss}(s, t) + u_{tt}(s, t) + 2u_{st}(s, t) + A[u_s(s, t) + u_t(s, t)] + Bu(s, t) = 0, \quad (1)$$

where $u : [0, 1] \times [0, 1] \rightarrow \ell^2$ is an unknown twice continuously differentiable function and $A, B : \ell^2 \rightarrow \ell^2$ are two densely defined linear operators on the range of u .

2. PRELIMINARIES

It is a well-known fact that one can study the aspects of a given linear space by studying the features of the space of functions defined on that space [4].

In this section, we introduce some definitions and basic results on tensor product theory of Banach spaces [5,6].

Definition 2.1. [7] Let X and Y be any two Banach spaces and X^* is the dual space of X . For $x \in X$ and $y \in Y$, the operator $T : X^* \rightarrow Y$, defined by $Tx^* = x^*(x)y = \langle x, x^* \rangle y$, is bounded one rank linear operator. We write $x \otimes y$ for T and such operators are called atoms.

Theorem 2.1. The atomic operator T is a bounded linear operator, with

$$\|T\| = \|x\| \|y\|.$$

Proof.: Suppose that $x_1^*, x_2^* \in X^*$ and $\alpha, \beta \in \mathbb{R}$. Then

$$\begin{aligned} T(\alpha x_1^* + \beta x_2^*) &= (\alpha x_1^* + \beta x_2^*)(x)y \\ &= \alpha x_1^*(x)y + \beta x_2^*(x)y \\ &= \alpha(x_1^*(x)y) + \beta(x_2^*(x)y) \\ &= \alpha Tx_1^* + \beta Tx_2^*. \end{aligned} \tag{2}$$

Therefore, T is a linear operator.

Moreover, for any $x^* \in X^*$, we have $\|Tx^*\| = \|x^*(x)y\| = |x^*(x)| \|y\| \leq \|x^*\| \|x\| \|y\|$. Take the supremum over all $x^* \in X^*$ such that $\|x^*\| = 1$ to obtain $\|Tx^*\| \leq \|x\| \|y\|$. Now, by employing a famous consequence of Hahn-Banach theorem, that is for all $x \in X$ there exists $x^* \in X^*$ such that $\|x^*\| = 1$ and $x^*(x) = \|x\|$, we have $\|Tx^*\| = \|x^*(x)y\| = \|x\| \|y\|$. Hence, T is bounded and the proof, now, is complete.

In the following we present a nice result regarding the atomic operators.

Lemma 1. [8] Let $\zeta_1 \otimes \eta_1$ and $\zeta_2 \otimes \eta_2$ be two nonzero atoms in $X \otimes Y$ such that $\zeta_1 \otimes \eta_1 + \zeta_2 \otimes \eta_2 = \zeta_3 \otimes \eta_3$. Then either $\zeta_1 = \zeta_2 = \zeta_3$ or $\eta_1 = \eta_2 = \eta_3$.

It should be noted that any solution to the abstract Cauchy problem, that is given in (1), that has the form

$$u(s, t) = v(s, t) \otimes \omega, \tag{3}$$

is said to be an atomic solution provided that $v(s, t) : [0, 1] \times [0, 1] \rightarrow \mathbb{R}$ and $\omega \in \ell^2$.

Let $L(X^*, Y)$ denotes the space of all bounded (continuous) linear operators from X^* to Y . Then

$$X \otimes Y = \text{span}\{x \otimes y : x \in X, y \in Y\}, \tag{4}$$

is a subspace of $L(X^*, Y)$. So, if $T \in X \otimes Y$, then $T = \sum_{i=1}^n x_i \otimes y_i$, where $x_i \in X$ and $y_i \in Y$, for all $i = 1, 2, \dots, n$.

For any $T \in X \otimes Y$, one can define many norms. Among these norms is the injective norm which is denoted by $\|\cdot\|_{\vee}$ and defined as

$$\|T\|_{\vee} = \left\| \sum_{i=1}^n x_i \otimes y_i \right\|_{\vee} = \sup_{\|x^*\|=1} \left\| \sum_{i=1}^n \langle x^*, x_i \rangle y_i \right\| = \sup_{\substack{\|x^*\|=1 \\ \|y^*\|=1}} \left| \sum_{i=1}^n x^*(x_i) \langle y_i, y^* \rangle \right|, \quad (5)$$

where $x^* \in X^*$ and $y^* \in Y^*$. The normed space $(X \otimes Y, \|\cdot\|_{\vee})$ need not to be complete. We let $X \overset{\vee}{\otimes} Y$ denotes the completion of $X \otimes Y$ under the injective norm.

A nice and useful result associated with the injective norm is the following theorem.

Theorem 2.2. [5] *Let E be a compact Hausdorff space and X be a Banach space. Then $C(E, X)$ is isometrically isomorphic to $C(E) \overset{\vee}{\otimes} X$. Equivalently, for any two compact metric spaces M and N , we have*

$$C(M \times N) = C(M) \overset{\vee}{\otimes} C(N) = C(M, C(N)) \quad (6)$$

Corollary 1. [5] *Let X be a Banach space and I be any compact interval. Then $C(I, X)$ is isometrically isomorphic to $C(I) \overset{\vee}{\otimes} X$.*

Let $C^2([0, 1] \times [0, 1], \ell^2)$ be the space of twice continuously differentiable functions defined on $[0, 1] \times [0, 1]$ to ℓ^2 . Then by Theorem (2.2), for any solution $u \in C^2([0, 1] \times [0, 1], \ell^2)$ to (1), we may consider

$$u(s, t) = P(s) Q(t) \omega, \quad (7)$$

where $P(s), Q(t) : [0, 1] \rightarrow \mathbb{R}$ and $\omega \in \ell^2$.

3. MAIN RESULTS

In this section, we present an atomic solution (3) to the abstract Cauchy problem (1).

Theorem 3.1. *Consider the following homogeneous second order abstract Cauchy problem in two variables s and t*

$$\begin{aligned} u_{ss}(s, t) + u_{tt}(s, t) + 2u_{st}(s, t) + A[u_s(s, t) + u_t(s, t)] + Bu(s, t) &= 0, \\ u(0, 0) = x_0, \quad u_s(0, 0) = x_1, \quad u_t(0, 0) = x_2, \end{aligned} \quad (8)$$

where $u : [0, 1] \times [0, 1] \rightarrow \ell^2$ is an unknown super nice (in the sense that it satisfies all necessary relevant properties) twice differentiable function, $A, B : \ell^2 \rightarrow \ell^2$ are two densely defined linear operators on the range of u , and $x_i \in \ell^2$ for $i = 0, 1, 2$. Then (8) has the following atomic solutions

$$\begin{aligned} u_1(s, t) &= e^{s+t} \omega, & \text{in case } A2\omega = B\omega = -2\omega, \\ u_2(s, t) &= e^s (2 - e^{-t}) \omega, & \text{in case } A\omega = -\omega \text{ and } B\omega = 0, \end{aligned}$$

$$\begin{aligned} u_3(s, t) &= e^{-2s+t} (3e^s - 2) \omega, & \text{in case } A\omega = \omega \text{ and } B\omega = 0, \\ u_4(s, t) &= e^{s+t} \omega, & \text{in case } B\omega = 2\omega, \\ u_5(s, t) &= e^t (2 - e^{-s}) \omega, & \text{in case } A\omega = -\omega \text{ and } B\omega = 0. \end{aligned}$$

Proof.: Let u be an atomic solution to (8). Hence by (7)

$$u(s, t) = P(s) Q(t) \omega, \quad (9)$$

where $P(s), Q(t) : [0, 1] \rightarrow \mathbb{R}$ and $\omega \in \ell^2$. Further (9) can be written in the form

$$u = P \otimes Q \otimes \omega. \quad (10)$$

Also, by (10), and recalling initial conditions in (8), we have $u(0, 0) = v(0, 0)\omega = P(0) Q(0)\omega = x_o$. Consequently, since $x_o = \omega$, we can assume

$$P(0) = Q(0) = 1. \quad (11)$$

Similarly, $\frac{\partial u}{\partial s}(0, 0) = \frac{\partial v}{\partial s}(0, 0)\omega = P'(0) Q(0)\omega = x_1$ and $\frac{\partial u}{\partial t}(0, 0) = \frac{\partial v}{\partial t}(0, 0)\omega = P(0) Q'(0)\omega = x_2$.

Thus,

$$x_o = x_1 = x_2 = \omega,$$

and hence,

$$P(0) = P'(0) = Q(0) = Q'(0) = 1. \quad (12)$$

Now, let us substitute (10) into the abstract Cauchy equation (8) to have the form

$$\begin{aligned} &P''(s) Q(t) \omega + P(s) Q''(t) \omega + 2P'(s) Q'(t) \omega \\ &+ A [P'(s) Q(t) \omega + P(s) Q'(t) \omega] + BP(s) Q(t) \omega \\ &= 0. \end{aligned} \quad (13)$$

Equivalently,

$$P''(s) Q(t) \omega + P(s) [Q''(t) \omega + Q'(t) A\omega + Q(t) B\omega] + P'(s) [2Q'(t) \omega + Q(t) A\omega] = 0, \quad (14)$$

which can be written as,

$$P''(s) Q(t) \omega + P(s) [Q''(t) \omega + Q'(t) A\omega + Q(t) B\omega] = P'(s) [-2Q'(t) \omega - Q(t) A\omega]. \quad (15)$$

According to Lemma (2.1), equation (15) admits that the sum of two atoms is an atom. Thus, we have the following two cases:

$$\text{Case (i) : } P''(s) = P(s) = P'(s), \quad (16)$$

$$\text{Case (ii) : } Q(t) \omega = Q''(t) \omega + Q'(t) A\omega + Q(t) B\omega = -2Q'(t) \omega - Q(t) A\omega.$$

Let us handle each case individually.

Case (i):: By using initial conditions in (12), this case has the following solution

$$P(s) = e^s. \quad (17)$$

Now, we substitute (17) into (15) to get

$$Q''(t)\omega + Q'(t)(A\omega + 2\omega) = Q(t)(-A\omega - B\omega - \omega). \quad (18)$$

Again by Lemma (2.1), equation (18) admits that the sum of two atoms is an atom. Thus, we have the following two sub-cases:

$$\text{Sub-case (a) : } \quad Q''(t) = Q'(t) = Q(t), \quad (19)$$

$$\text{Sub-case (b) : } \quad \omega = A\omega + 2\omega = -A\omega - B\omega - \omega.$$

Sub-case (a): Using initial conditions in (12), sub-case (a) has the following solution

$$Q(t) = e^t. \quad (20)$$

Now, we substitute (20) into (18) to get $A2\omega + B\omega + 4\omega = 0$. Therefore, if we consider $A2\omega = -2\omega$ and $B\omega = -2\omega$, then an atomic solution to (8) can be obtained. Hence, referring to (10), (17), and (20) the first atomic solution associated with sub-case (a) of case (i) is given by

$$u_1(s, t) = e^{s+t}\omega, \quad (21)$$

provided that $A2\omega = B\omega = -2\omega$.

Sub-case (b): The equation $\omega = A\omega + 2\omega = -A\omega - B\omega - \omega$, can be reduced into the following two equations

$$A\omega = -\omega \text{ and } B\omega = 0. \quad (22)$$

Now, we substitute (22) into (18) to get

$$Q''(t) + Q'(t) = 0. \quad (23)$$

But, by using initial conditions in (12), equation (23) gives

$$Q(t) = 2 - e^{-t}. \quad (24)$$

Hence, referring to (10), (17), and (24) the second atomic solution to (8) that is associated with sub-case (b) of case (i) is given by

$$u_2(s, t) = e^s(2 - e^{-t})\omega, \quad (25)$$

provided that $A\omega = -\omega$ and $B\omega = 0$.

Case (ii):: This case has the following three sub-cases:

$$\begin{aligned}
 \text{Sub-case (a) :} & \quad Q(t)\omega = Q''(t)\omega + Q'(t)A\omega + Q(t)B\omega, \\
 \text{Sub-case (b) :} & \quad Q(t)\omega = -2Q'(t)\omega - Q(t)A\omega, \\
 \text{Sub-case (c) :} & \quad Q''(t)\omega + Q'(t)A\omega + Q(t)B\omega = -2Q'(t)\omega - Q(t)A\omega.
 \end{aligned} \tag{26}$$

Sub-case (a): Here, the corresponding equation can be rewritten as

$$Q(t)[\omega - B\omega] = Q''(t)\omega + Q'(t)A\omega. \tag{27}$$

By Lemma (2.1), equation (27) admits that the sum of two atoms is an atom. Thus, we have either $Q''(t) = Q'(t) = Q(t)$ or $\omega - B\omega = \omega = A\omega$. Using initial conditions in (12), $Q''(t) = Q'(t) = Q(t)$ implies

$$Q(t) = e^t. \tag{28}$$

Moreover, $\omega - B\omega = \omega = A\omega$ implies that

$$A\omega = \omega \text{ and } B\omega = 0. \tag{29}$$

Now, we substitute (28) and (29) into (15) to get

$$P''(s) + 2P(s) = -3P'(s). \tag{30}$$

Hence, by related initial conditions from (12), we have

$$P(s) = e^{-2s}(3e^s - 2). \tag{31}$$

Hence, referring to (10), (28), and (31) the third atomic solution to (8) that is associated with sub-case (a) of case (ii) is given by

$$u_3(s, t) = e^{-2s+t}(3e^s - 2)\omega, \tag{32}$$

provided that $A\omega = \omega$ and $B\omega = 0$.

Sub-case (b): The corresponding equation can be rewritten as

$$Q(t)[\omega + A\omega] = Q'(t)[-2\omega]. \tag{33}$$

Hence, by referring to Lemma (2.1), we have either $Q'(t) = Q(t)$ or $\omega + A\omega = -2\omega$. Using initial conditions in (12), $Q'(t) = Q(t)$ implies

$$Q(t) = e^t. \tag{34}$$

Moreover, $\omega + A\omega = -2\omega$ implies that

$$A\omega = -3\omega. \tag{35}$$

Now, we substitute (34) and (35) into (15) to get

$$P''(s)\omega + P(s)[-2\omega + B\omega] = P'(s)\omega. \quad (36)$$

Thus, by Lemma (2.1), either $P''(s) = P(s) = P'(s)$ which implies that

$$P(s) = e^s, \quad (37)$$

or $\omega + [-2\omega + B\omega] = \omega$, which admits that $B\omega = 2\omega$. Hence, referring to (10), (34), and (37) the fourth atomic solution associated with sub-case (b) of case (ii) is given by

$$u_4(s, t) = e^{s+t}\omega, \quad (38)$$

provided that $B\omega = 2\omega$ that is ω is an eigenvector of B with eigenvalue 2.

Sub-case (c): The corresponding equation can be rewritten as

$$Q''(t)\omega + Q'(t)[A\omega + 2\omega] = Q(t)[-B\omega - A\omega]. \quad (39)$$

By Lemma (2.1), equation (39) admits that the sum of two atoms is an atom. Thus, we have either $Q''(t) = Q'(t) = Q(t)$ or $\omega = A\omega + 2\omega = -B\omega - A\omega$. Using initial conditions in (12), $Q''(t) = Q'(t) = Q(t)$ implies

$$Q(t) = e^t. \quad (40)$$

Also, $\omega - B\omega = \omega = A\omega$ implies that

$$A\omega = -\omega \text{ and } B\omega = 0. \quad (41)$$

Now, we substitute (40) and (41) into (15) to get

$$P''(s)\omega = -P'(s)\omega. \quad (42)$$

Consequently, $P''(s) + P'(s) = 0$. Thus,

$$P(s) = (2 - e^{-s}). \quad (43)$$

Now, referring to (10), (40), and (43) the fifth atomic solution associated with sub-case (c) of case (ii) is given by

$$u_5(s, t) = e^t(2 - e^{-s})\omega, \quad (44)$$

provided that $A\omega = -\omega$ and $B\omega = 0$. In other words, ω is an eigenvector of A with eigenvalue -1 .

Therefore, the proof is complete.

4. CONCLUSIONS

This paper, we introduce an analytic method to determine the atomic solutions to a homogeneous second order abstract Cauchy problem in two variables. The unknown function assumed to be defined from $[0, 1] \times [0, 1]$ to the Banach space ℓ^2 . The procedure was performed by combining some results from tensor product theory of Banach spaces. We could determine five different atomic solutions to the underline abstract Cauchy problem.

Authors' Contributions. All authors have read and approved the final version of the manuscript. The authors contributed equally to this work.

Conflicts of Interest. The authors declare that there are no conflicts of interest regarding the publication of this paper.

REFERENCES

- [1] P. Magal, S. Ruan, Theory and Applications of Abstract Semilinear Cauchy Problems, Springer, Cham, 2018. <https://doi.org/10.1007/978-3-030-01506-0>.
- [2] M. Al Horani, M. Fabrizio, A. Favini, H. Tanabe, Inverse Problems for Degenerate Fractional Integro-Differential Equations, Mathematics 8 (2020), 532. <https://doi.org/10.3390/math8040532>.
- [3] M.A. Horani, M. Fabrizio, A. Favini, H. Tanabe, Fractional Cauchy Problems for Infinite Interval Case, Discret. Contin. Dyn. Syst. Ser. S 13 (2020), 3285–3304. <https://doi.org/10.3934/dcdss.2020240>.
- [4] E. Kreyszig, Introductory Functional Analysis with Applications, Wiley, 1991.
- [5] E.W. Cheney, W.A. Light, A Course in Approximation Theory, American Mathematical Society, Providence, 2009.
- [6] J. Diestel, J.J. Uhl, Vector Measures, American Mathematical Society, Providence, 1977.
- [7] R.R. Khalil, L. Abdullah, Atomic Solution of Certain Inverse Problems, Eur. J. Pure Appl. Math. 3 (2010), 725-729.
- [8] R. Khalil, Isometries of $Lp^* \widehat{\otimes} Lp$, Tam. J. Math. 16 (1985), 77-85. <https://cir.nii.ac.jp/crid/1572543025339453184>.
- [9] M. Al-Horani, R. Khalil, I. Aldarawi, Fractional Cauchy Euler Differential Equation, J. Comput. Anal. Appl. 28 (2020), 226-233.
- [10] M. Al Horani, M. Abu Hammad, R. Khalil, Variation of Parameters for Local Fractional Nonhomogenous Lineardifferential Equations, J. Math. Comput. Sci. 16 (2016), 147–153. <https://doi.org/10.22436/jmcs.016.02.03>.
- [11] W.G. Alshanti, Solutions of Linear and Non-Linear Partial Differential Equations by Means of Tensor Product Theory of Banach Space, Electron. J. Differ. Equ. 2024 (2024), 28. <https://doi.org/10.58997/ejde.2024.28>.
- [12] W.G. Alshanti, M.A. Hammad, A. Alshanty, R. Khalil, Analytical Method for Solving Linear Abstract Differential Equations of Order n, Partial Differ. Equ. Appl. Math. 11 (2024), 100757. <https://doi.org/10.1016/j.padiff.2024.100757>.
- [13] I. Batiha, J. Oudetallah, A. Ouannas, Tuning the Fractional-order PID-Controller for Blood Glucose Level of Diabetic Patients, Int. J. Adv. Soft Comput. Appl. 13 (2021), 1-10.
- [14] I. Batiha, S. Njadat, R. Batyha, et al. Design Fractional-Order PID Controllers for Single-Joint Robot Arm Model, Int. J. Adv. Soft Comput. Appl. 14 (2022), 97-114.